MA TRAN PE HKI TOAN 11

CAU HOI THEO MUC PO NHAN THUC

. . . Advanced Problem Total number Total % of
STT Lesson Topics Recognise Fluency Problem Solving Solving/Reasoning of questions number questions % of marks
of marks
question marks question marks question marks question marks

1 5A Radian Measure 1 4 1 4 13% 10%
3 5B Arc length and sector area 0.5 2 0.5 3 1 5 13% 13%
4 5C The unit circle and the trigonometric ratios 1 2 1 2 13% 5%
6 5D Applications of the unit circle 1 3 1 5 2 8 25% 20%
7 7B The sine function 0.5 5 0.25 3 0.25 2 1 10 13% 25%
8 7E Trigonometric equations 1 4 1 7 2 11 25% 28%

T8ng cdng 4 16 2.5 12 1.25 10 0.25 2 8 40 100% 100%

Ty Ié cau 50.00% 31.25% 15.63% 3.13%

Ty 18 diém 40% 30% 25% 5%




BANG DAC TA MA TRAN TOAN 11

STT

PON VI KIEN THUC

CHUAN KIEN THUC KY NANG CAN KIEM TRA

CAU HOI THEO MUC PO NHAN THUC

NHAN BIET |THONG HIEU

VAN DUNG

VAN DUNG CAO

5A Radian Measure

Nhan biét:
— convert between radiant and degree

1

5B Arc length and sector area

Nhan biét:

- find arc length and sector area when radius is known
Théng hiéu:

— find the radius when are length or sector area is known

0.5

0.5

5C The unit circle and the trigonometric ratios

Nhan biét:
- find the position on the unit circlewhere the angle is known

5D Applications of the unit circle

Nhan biét:

- find the angle where trigonometry value is known
Théng hiéu:

- find the others trigonometry value when one is known

7B The sine function

Nhan biét:

- understanding the sine function

Van dung va van dung cao:

- state the transfomation and sketch the graph of sine function

0.5

0.25

0.25

7E Trigonometric equations

Théng hiéu:

- solve the simple trigonometric equations
Véan dung:

- solve the trigonometric equation
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1. Convert:
a. The angle 160° to simplest radians measure in terms of 7 . (2)
b. The angle 10.4 radians to degrees correct to 2 decimal places. (2)

2. The shaded sector in the diagram provided has an area of 20T cm?.

a. Show that the radius of the sector is 5.48 cm. (3)

b. Hence, find the arc length of the sector. (2)

3. Use technology to determine the approximate coordinates of the point P that lies on the unit circle

as shown on the diagram below. Give your answer correct to 3 significant figures. (2)

Yy
1

4. Iftan & = —1.7, find the possible values of 8 for0 < 8 < 360°. (3)
5. Given that sinf = —zand T<0< 37”, find the exact value of:
a. cos 6 (3)
b. tan 6 (2)
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6. Find the exact angle, x, for0 < x < 2m if:

a. V2cosx —1=0 (3)
b. 9tan’x —3 =0 (4)
7. Solve for x if Zsin(g) ++vV3 =0 where 0<x < 4n. (4)

8. Consider the function y = —2sin (x — E) + i .

a. Complete the table below. (5)

Amplitude Period Principal Maximum | Minimum
Axis value Value

b. State the transformations that would map the graph of y = sinx to y = —2sin (x — %) + % .
(3)

c. Use transformation techniques to clearly map y = sinx toy = —sin (g) . Copy the graphs to

your answer sheet. (2)
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Semester 1 Year 11 Final Exam — Answer key

Question Answer Mark
Question 1
a. 160° = 160 X — 1
180
_ 8w 1
)
b. 10.4 = 10.4 X % 1
= 595.88° 1
Question 2
a. We have:
201 = 222 2 1
360
=7
3
30 = r?
r =+v30 =5.48cm
b. 1=22% 21 x 548 1
360
= %n = 22.95cm 1
Question 3
The coordinate of the point P is:
P = (cos4.2,sin 4.2)
= (—0.490,-0.872)
Question 4
The base angle is:
@ =tan"1'1.7 = 59.53° 1
Hence:
6, = 180° — 59.53° = 120.47°
6, = 360° — 59.53° = 300.47°
Question 5
a. We have:
sin®@ 4+ cos?0 =1 1
(<2) + cos?
—=) +cos“0 =1
4
cos2 0 = — 1
16
n<9<37ﬂhencec059=—g 1
b. __sin# —% 1
tan @ = o0 —
_3 : I
V7
Question 6
a. V2cosx—1=0
1
cosx =~ :
Hence x = % 1
And x = I 1
4
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9tan’x—-3=0
tanZ x = >
9

1
tan x = iﬁ

1 T 7T
tanxz—ghencengorxz?

V3
11w

1 5
tanx = ——=hence x = —orx = —
V3 6 6

Question 7

0<x<A4m henceOSESZn

Zsin§+\/3 =0
. X V3
sin-=——
2 2

x 41 x 51
Hence==—and == —
2 3 2 3

81 101
Hence xz?andsz

Question 8

a.

Amplitude: 2

Period: 21

. .1
Principal axis: P

) 5
Maximum value: >

.. 3
Minimum value: — P

Vertical dilation by a factor of 2

Horizontal translation by % units to the right

Vertical translation by % units upwards

0.5
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